HANEFDRRNE T REITR

BHR—REXR(14)

& H w1 2 3 4 5 6
sl 77—~ 10

0 PP 6 3 6 6| 18 6
. AT 19 16 17 17 19 24
800m (1) 3 1 2 4 5 6
1000m (%) 4 2 3 5 1 6
60mH (% 7-) 1 5 2 3 4 6
60mH (% 7) 7 7 5 6 6 11
fE A | 50m (& 7-) 4 1 3 2 5 6
100m (%) 4 7 2 7 10 12
AT AR =T () 3 6 1 2 4 5
R = AR (BF) 3 6 9 15 12 18
6 N 7H (%) 18 6 12 15 3 9
Ff | 4 150mR (& F) 6 3 15 12 9 18
- | 4X 200mR (1) 15 6 9 3 12 18
wom | EAIBEO: (3 &) 3| 15| 6] ol 15 18
S A Wk 23 18 15 12 19 24
ARIDE /NG 129] 102 107 118 142 187
IE AL 3 6 5 4 2 1
. EIESEER9) 18 3 12 6 15 9
o A= —F LR (&) 3 6 9 12 15 18
) A= —F R (FF) 15 6 3 9 12 18
& B 165 117|131 145| 184 232
IE AL 3 6 5 4 2 1




